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Senior Division: Problems 1

Katie had a collection of red, green and blue beads. She noticed that the number of beads c
colour was a prime number and that the numbers were all different. She also observed that
multiplied the number of red beads by the total number of red and green beads she obtainet
number exactly 120 greater than the number of blue beads. How many beads of each colou
have?

Ant and Dec had a race up a hill and back down by the same route. It was 3 miles from the :
the top of the hill. Ant got there first but was so exhausted that he had to rest for 15 minutes
he was resting, Dec arrived and went straight back down again. Ant eventually passed Dec
way down just half a mile before the finish.

Both ran at a steady speed uphill and downhill and, for both of them, their downhill speed wi
and a half times faster than their uphill speed. Ant had bet Dec that he would beat him by at
minute.

Did Ant win his bet?

Explain your answer.

Two numbers contain the same digits in a different order. Explain why the difference betwee
numbers is always a multiple of 9.

Let ABC be an acute-angled triangle with sides of lengths c and areX. Show that the radius
: ._abc
the circle througl®, B andC is X

John said “I am told that there is only one number between 2 and 200 000 000 000 000 whit
perfect square, a perfect cube and also a perfect fifth power. | am sure there must be more
but | have looked at all the numbers up to 100 000 and | haven't found any! | am getting fed
doing this.”

END OF PROBLEM SET 1



